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1 Purpose

Broadcast in SABP has been globally partitioned in two types: finite broadcast or infinite broadcast (identified by one parameter set to zero). 

This document is focused on the finite broadcast and shows that:

· there can be two interpretations of the service expected  from the RNC,  

· This creates a serious inter-working issue if this is not clarified and the CBC follows one interpretation and the RNC the second one.

2 Two interpretations of the Finite Broadcast function  

The Write function contains two key parameters that impact the duration of the finite broadcast: the Number of Broadcast Requested (NBR) and the Repetition Period (RR). This leads to two possible interpretations of the finite broadcast to be successful:

· one based on the absolute fullfillment of the requested number of broadcast (NBR value)

· one based on the absolute fullfillment of the duration calculated as T= NBR*RR 

2.1 Interpretation based on the “Number of Broadcast Requested”

The NBR is the key parameter to fulfil. Even if some occurrences as defined by the repetition period are missed due to some factors (congestion, overriding priorities…), the broadcast mustn’t be ended by the RNC before this number NBR has been fulfilled.

For example, if after T time, 3 broadcasts have still to be done to reach the expected number, the RNC will continue broadcasting for at minimum a time equivalent to: 3*RR.

The validity duration is supposed to be controlled by the CBC: if at any time after T, the message is no longer valid, CBC is supposed to kill the request. The Kill report will indicate back to CBC what was the actual number of broadcast that has been done in this case.

Therefore RNC continues to broadcast until the first of these two events occurs: NBR is reached or a  Kill request is received from the CBC. 

Against interpretation 2.1

1. This forces the CBC to manage the validity of the message after time T and perform kill operations if needed.

2. The duration-based service expected by a CBC consisting in the broadcast of a message for an exact duration T can no more be reliably done by the RNC using finite broadcast: it needs to use infinite broadcast which is more heavy: follow-up of every broadcast and kill actions at any of them.

3. From a service perspective, what is the benefit to define the number of messages actually broadcasted as the key target? The UE having kept the message when broadcast during T are not interested after T; for the UE not having captured the message during T, getting it later is equivalent to use the duration-based service based on target duration with a duration value set higher.

2.2 Interpretation based on the expected duration

The service expected from the finite broadcast function is to broadcast during a certain finite period T  exactly. NBR is only used to define T as T=NBR*RR.

The RNC therefore broadcasts during the duration T and then stops the broadcast at time T whatever the number of broadcast that has effectively been succeeded. The CBC can further possibly retrieve this number of broadcast completed by a Status Query or a Kill function.

Against interpretation 2.2

1. The same service is achievable with infinite broadcast provided that the CBC kills the request at the end of time T.  

2. If the service to rely on an exact finite number of broadcasts done makes sense for a CBC (NBR as  the key target), CBC has no easy way to achieve it , if it is the NBR which is the key target.

3 Inter-working issue lead by the two interpretations 

The specification has to define the correct interpretations out of the two previous ones in order to avoid the following inter-working problems:

Whenever the RNC behaves as per interpretation 2.1, if  the CBC behaves as per 2.2, the message can be sent after time T, even when invalid. 

Whenever the RNC behaves as per interpretation 2.2, if the CBC behaves as per 2.1 and expects the NBR to be fulfilled, the service expected is not fulfilled.

4 Conclusion and Proposal: 

The specification must be clarified one way or the other.

It is proposed to agree either on the interpretation 2.1 as in the attached CR120 or on the interpretation 2.2 as in the attached CR122.
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